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Balar dance, Mandal dance, Lur
dance and Kud dance. are the
dances of which tribe ?°

(1) Bhil tribe

(2) Garasiya tribe
(8) Sahariya tribe
(4) Kanjar tribe

Match List — I with List — IT and
find the correct answer using the
codes given below the lists :

List-1 List - II
(Books) (Authors)
(a) Hammirayan (i) -Charan
Shivdas

(b) Ranmal Rau (i) Bithu Suja
Chhand

(¢) Achal Das (iii) Padmanabh
Khinchi Ri ' p
Vachanika

(d) Rao Jaitsi @av). Shreedhar

Rau Chhand Vyas
Codes:

@ b © @
(1) G Gv) @ @@
2 @ @G @) @)
@ @ G v @
4 @) @ (111) ()

The dialect spoken in the .
Dungarpur Banswara reglon 'is
called .

(1) Marwari (2) Malvi- 1
3) Mewati (4 Vagadi E

Among the gfollowing;f- which &
Aravalli peak is lesser than Ser
but higher than Achalgarh ?

(1) Sayra .

(2) Ragunathgarh- . ¢,

8) dJarga

(4) Kho
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Which mountain is not located in
Jalore mountain area ?

(1) Roja Bhakar

(2) Jhalora Pahad

(8) Israna Bhakar

(4) Gogunda

The combined channel of Wakal
and Sei is knownas -

(1) River Mahi

(2) River Sabarmati
(3) River Parwati
(4) River Banas

Match List — I with List — II and
select the correct answer using
codes given below :

List - I " List-1II
(Lakes) (Districts)
(a) Navlakha (1) Dholpur
(b) Talchhapar (i) Bundi
(c) Talabshahi (iii) Barmer
(d) Pachpadra  (iv) Churu

Codes:

@ b © @
1 @ v @O @G
2) Gi) Gv) @ @
(3) G @) Gv) @
4) @) @ @) G

Which among the following
districts receives lowest annual
average rainfall ?

(1) Udaipur
(3) Nagaur

(2) Dausa
(4) Chittorgarh

Udaipur and Kota districts has
largely

(1) Calci brown soil

(2) Brown soil of recent origin
(8) Hilly soil

(4) Red loam
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Select the group of districts
having forest cover above 10% of
its geographical area (2021
Assessment) as per
Administrative Report 2‘022.-23,
of Forest Department, Rajasthan.

(1) Sikar, Jalore, Jhalawar

(2) Rajsamand, Karauli, Dholpur
3 Banswara, Bharatpur, Dausa
(4) Pali, Bhilwara, Ajmer

According to eensus 2011, which
pair of districts, occupies the first
and the last place in terms of
female literacy rate in Rajasthan ?
(1) Jaipur — Alwar

(2) Kota — Jalore

(8) Kota — Jaisalmer

(4) Jaipur - Sirohi

In the year 2002-2008, how many

districts of Rajasthan were
declared as drought effected
districts ? )
1) 20 2 15
3) 32 (4) 18

As per Administrative Report 2022,
of Forest Department, Rajasthan,
which group of districts recorded
maximum rate of degradation (in %)
in Forest cover during-2019-2021 ?
(1) Sirohi and Jalore

(20 Karauli and Bharatpur

(8) Sirohi and Bharatpur

(4) Jalore and Karauli

In which year, ‘Rajasthan State
Environment Pollcy was first
enacted ?
(1) 2011
(3 2010

(2) 2016
(4) 2014
00 -
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15. Bhukhia — Jagpura — Delwara

belt is known for-:

(1) Tungsten reserve
(@) Gold reserve

(B) Quartz reserve

(4) Manganese reserve

Barabag (Jaisalmer) and Deogarh

" (Chittorgarh) have

(1) Wind power project
(2) Biogas power project
(3) Solar ijower project .

(4) Wind and Solar power project

Mewar Textile Mills is located at
(1) Beawar (2) Bhilwara
(8) Banswara (4) Pali

Which of the following is one of
the centres of RIICO’s Agro Food
Parks ?

(1) RIICO, Bharatpur

(2) Udyogvihar, Jaisalmer

(8) MIA, Kota

(4) Boranada, Jodhpur

Recently, a Woman Wing
Commander, native of Rajasthan
has become the first Woman
Indian Air Force Officer to
receive the Gallantry Award.
What is her name ?
(1) Deepa Mishra
(2) Deepika Mishra
(8) Devika Mishra
(4) Divya Mishra
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20. The 3 new Wild life Conservation

Reserves recently declared by
Rajasthan Forest Department are —

(1) Sorsan (Baran), dJorbeed
(Bikaner) &  Hamirgarh
(Bhilwara)

(2) Sorsan (Baran), Khichan
(Jodhpur) 85 Hamirgarh
(Bhilwara) ‘

(3) Gajner (Bikaner),. Khichan
(Jodhpur) &  Hamirgarh
(Bhilwara) :

(4) Shergarh (Baran), Khichan
(Jodhpur) &  Hamirgarh
(Bhilwara) ‘

21. On 13th and’ 14tk March, 2023,
Rajasthan Millets Conclave was
held at which place ?

(1) Sri Ganganagar

(2) Udaipur

(3) Bikaner

(4) Jaipur

22, Identify the first and only Indian
to climb five 8000 metre mountain
peaks in a single season in
March, 2021 :

(1) Baljeet Kaur

(2) Santosh Yadav

(8) Arunima Sihha

(4) Premlata Agarwal

23. In March, 2023 Prime Minister of

India has inaugurated the ‘One
. World TB Summit 2023’. Where
was this Summit organised ?

(1) New Delhi (2) Bhopal
(8) Varanasi (4) Surat

t
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24.

25.

26.

27.

IMPRINT
collaborating

India Scheme a
_ initiative of

Department of Science and

Technology and Ministry of

Human Resource Development in

India focuses on )

(1) Developing digital research
for social welfare.

(2) Funding environment
research oriented projects.

(3) Enhancing the print and
publishing agencies.

(4) Boosting research and
innovation for technologically

. advanced nation.

Recently a person of Indian origin

_ has been choosen as World Bank’s

President. What is his name 7
(1) Amit Banga

(2) Arvind Banga

(8) Ajay Banga

(4) Arun Banga

Which country has hosted the
“Asia Pacific Leaders Conclave on
Malaria Elimination (2023)” ?

(1) India

(2) . Solomon Islands

3 Fii

(4) Singapore

The theme of the 76t World
Health Assembly is

(1) Health for the globe

(2) WHO at 75 : Saving lives,
driving health for all

(8) WHO : Right to Health for all
(4) WHO at 76 : Health for all
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(1) 750
(3) 1,200

(2) ¥1,000
(4) 1,500

0, ¥ 3rreier shu B
1) 1.0,
@) 15

@ 20
4) 25

et 3T % gl freret A 3R B, Rt
pH 3HST: 6 3T 4 B, T 99 AT Bl
e s et fererM w1 pH ® (T
TR log 5, 0.699 B)

(1) 633RE (2) 4974

(8) A4IN5FAI (L) 5IR6FHA

A 3R B # afufrn §, w8 A B
iz, B % drsal fRR wd @, g
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28..

29.

30.

31.

‘the other hand,

Rajasthan  Government  has
recently increased the incentive
amount for Ekal Nari Samman
Pension. What amount is now
paid per month to eligible woman
above the age of 75 years, under
this scheme ?

(1) 750
(3) 1,200

(2) T1,000
@) 1,500
In O,, the bond order is

1) 1.0
@ 1.5

2 20

The pH of a solution formed by
mixing equal volumes of two
solutions A and B of a strong acid
having pH 6 and pH 4
respectively is (given log 5 is
0.699)

(1) greater than 6

(2) lessthan4

(3) between 4 and 5

(4) between 5 and 6

For a reaction between A and B,
the rate of the reaction doubles
when the concentration of A is
doubled while keeping
concentration of B constant. On
at constant
concentration of A, when
concentration of B is reduced to
half, the rate of the reaction is
reduced  to one-fourth. What is
the order of the reaction ?

@ 1 2 2.
3 3 “(4) 2%
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(1) .Fe,[Fe(CN)], I/
(2) [Fe(CN); NOJ*-

() [Fe(CN);NOSI*

@ [Fe(SCN)™ |
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32.

33.

34.

35.

Which of the
statements about
equilibrium is correct ?
(1) At equilibrium, the system
undergoes no net change.

(2) At equilibrium, the forward
and backward reactions cease
to occur. :

3) At equilibrium, the
concentrations of reactants
and products are equal.

(4) The catalysts, shift
position of the equilibrium.

following
chemical

the

Which of the following is not an
aromatic compound ?

NN

1) (2) o

Q)
N

In the following reaction,
COOH

The product is

(1) o-nitro benzoic acid

(2) p-nitro benzoic acid

(8) m-nitro benzoic acid
(4) Benzene

Conc. HNO3 0
Conc. H,SO, ~

On treating sodium fusion extract
with sodium  nitroprusside,
appearance of violet colour is due
to which of the following ?

(1) Fe,[Fe(CN)gl,
(2) [Fe(CN); NOJ*
(3) [Fe(CN);NOS]*
4 [Fe(SCN)*
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37.

38.

39.

40.

Which of the . - following
concentration units is dependent
on temperature ?

(1) Molality (2) Molarity
(3) Mole fraction(4) Mole percent
Which of the following colloids is
known as a sol ?

(1) Cellfluid (2) Milk’

(8) Cheese (4) -Cloud

On the basis of data given below,
predict which of the following
gases shows least adsorption on a
definite amount of chareoal ?

Gas | CO,|SO,|CH,|H,]|

Critical~ o
temperature/K| 304 [ 630 | 190 | 33

(1) Co, " SO,
3) CH, 4 "H,

Own microflora carried by food
materials is termed as :

(1) Internal microflora '

(2) Processing microflora

(3) Phyllosphere microflora

(4) Storage microflora

Gram-positive, endospore-forming

. rods are produced on :

(1) Escherichia

41.

42.

. (2 Staphylococcus
(3) Bacillus *

(4) Pseudonionas

Lactobacilli, 1mportant groups of
bacteria in fosd microbiology,
have their pH optima between :

1) 6.0-80 (2) 45-6.0
3 50 60 . (4) 35 40
Nitrate rich foods favour the
luxurious growth of one of the
following : ;
1) Mucor * *
(@) Lactobacilli-
(8) Pseudomonas
(4) Staphylococcus
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The primary source of bacteria
causing ropiness of milk is :

(1) Air (2) Water

(8) Utensil (4 Animal

All are rich natural sources of
probiotic except

(1) Buttermilk

(2) Kefir

(8) Tempeh

(4) Sourdough bread

The chief contaminant in the
canning industry is :

(1) Lactobacillus rhamnosus

(2) Clostridium botulinum

(8) Bacillus subtilis

(4) Trichoderma polysporum

Which of the following statement

is correct with respect to

acidophilus milk ?

(1) Prepared from
skimmed milk.

(2) Lactobacillus acidophilus is
main organism for its production.

(8) Optimum temperature of -its
production is 37 °C.

(4) All are correct.

Ale yeast is used as .

(1) Top-fermenting yeast for wine
production

(2) Top-fermenting yeast for Beer
production

(8) Bottom-fermenting yeast -for
wine production

(4) Bottom-fermenting yeast for
Beer production

low fat/

. An excessively high temperature

in the fermentation of sauerkraut

may inhibit the growth of

(1) Bacillus mesenteroids

(2) Leuconostoc

(3) Both Bacillus mesenteroids
and Leuconostoc

(4) Neither Bacillus mesenteroids
or Leuconostoc

= |
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Which substrate is used for the
production of Beer ?

(1) Molasses

(2) Sugarcane Juice

(8) Grapes -

(4) Barley -

One of the following is a fermented

condiment : _
(1) Idli - (2) Kombucha

(4) Ang-khak

“Lipopolysaccharide” is a .major
component of cell wall in :

" N .
(1) Gram Positive Bacteria

- (@) Gram Negative Bacteria

(3) Parasites
(49) Fungus

The incorrect pair of food borne -
illness and its causative micro-
organism is : :

(1) Brucellosis — B. abortus

(2) Peptic ulcers — B. subtilis

(8) Salmonellosis — S. typhimurium
(4) Qfever — C. burnetti

Initial Lactic acid.. bacteria
utilizing sugars of cabbage in
Sauerkraut fermentation is :

(1) Lactobacillus Plantarum

(2) Lauconostoc mesenteroides
(3) Pediococcus pentosaceus

(4) None of these

The glycemic index of full-fat,
whole milk is in the range of :
(1) 10-18 (2) 35-40
3 50-55 4 175-80

The repeating disaccharide unit
present in cellulose is '
(2) Cellobiose
(4) Dextrose

(1) Dextrin
(8) Maltose

T - T, T
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Which among the following is a

limiting amino acid in wheat and
rice ?

(1) Lysine_

(2) Methionine

(8) Phenylalanine

(4) Tryptophan

Which of the following
metabolites is not directly related
to urea cycle ?

(1) Ornithine
(3) Alanine

(2) Citrulline
(4) Arginine
Which of the following pairs
represent essential fatty acids ?
(1) Linoleic and palmitic

(2) Linoleic and linolenic

(8) Stearic and oleic

(4) Palmitic and stearic

Function of HDL (High Density

Lipoprotein) is

(1) Transport of triglycerides from
intestine to adipose tissue

(2) Transport of cholesterol from
liver to peripheral tissue

(8) Transport of cholesterol from
peripheral tissues to liver

(4) Transport of triglycerides from
adipose tissue to intestine

Niacin deficiency causes :
(1) Beriberi (2) Anemia
(8) Pellagra (4) Scurvy

The active form of Vitamin D is
(1) Cholecalciferol

(2) 25-hydroxy cholecalcifero}
(3) Calcitriol

(4) Ergocalciferol
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Which of  the following

combinations of 'coenzyme -

biochemical function is wrong ?

(1) Pyridoxal phosphate -
Oxidation reduction reaction

(2) Flavin adenine Dinucleotide —
Oxidation reduction reaction

(8) Pyridoxal phosphate -
Transamination reaction

(4) Biocytin — Carboxylation reaction ‘

Which among the following is
required in the production of
High-fructose corn syrup-a liquid
sweetener commonly used in
candies and soft drinks ?

(1) Glucose oxidase

(2) Aminopeptidase

(3) Lipase

(4) Glucose isomerase

Lathyrism is seen in persons
consuming large quantities of
lathyrus sativus (Khesari Dal).
The toxic component present in
lathyrus sativus is —

(1) Hydrocyanic acid

(2) Vicin

(3) Monoamine oxidase

(4) Beta oxalyl-amino alanine

Match the items of Column-A
with those given in Column-B

and select the correct
combinations:

Column-A * Column-B
a. Ascorbicacid i. Antioxidant
b. Aspartame ii. Dipeptide
c. Lecithin - iil. Emulsifier

iv. Tripeptide
a b c
@ i i i
@ i iv i
@ uHi i i
@ i iv i
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Which heavy metal toxicity

inhibits the enzymes of heme

synthesis causing severe anemia ?

(1) Lead (2) Arsenic

(3) Aluminium (4) Cadmium

Among the following select the

correct statements :

In reversible competitive enzyme

inhibition

(i) The inhibitor bears structural
resemblance to substrate.

(i)

Both K, and V .

increased.

The inhibitor does not bear
structural resemblance to
substrate.

K, is increased whereas
V max remains unchanged.

(1) @and@v) (2) (@) and (Gi)
(8) <(iii) and (iv) (4) (i) and (iii)
What is not
Ribonucleic Acid ?
(1) Mainly seen in cytoplasm
(2) wusually 100-5000 bases -+

(8) Generally single stranded
(4) Alkali resistant

are

(iii)

(i)

true about

Consider following characteristics :

(i) Eukaryotic and  Photo
synthetic microbes

(@) Unicellular; multicellular
colonial

(i) Reproduces asexually and
sexually

(iv) Have oxygenic photosynthesis

Organism which have above
characteristics is

(1) Fungi (2) Algae
(3) Protozoa (4) Viruses
Epithelium of Bronchioles

comprises of :

(1) Simple cuboidal cells

(2) Pseudostratified columnar cells
(8) Simple squamous cells

(4) Pseudostratified sensory cells

ln
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Which one of the followmg is

NOT a funetion of bile ?

(1) helps in emu1s1f"1cat10n of
lipids.

(2) helps in forming micelles,
which keep water insoluble
lipids in solution.

(3) helps in transport and
absorption of lipids.

(4) helps in absorption of water
soluble vitamins.

Inside the Red Blood cells: an
enzyme  carbonic  anhydrase
catalyses and accelerates the
reaction between carbon dioxide
and water to

(1) -1000fold (2) 5000 fold
(3) 100 fold (4) 500 fold

A polypeptide ~ hormone
synthesized from cells of heart
atrium that inhibits secretion of
renin are aldosterone is
(1) corticotropic factor

(2) cardiodilatin

(8) atrial natriuretic factor
(4) Angiotensin

The active site on the normal

actin filament of the relaxed
muscle are inhibited by the
(1) Calcium ions

(2) Magnesium ions and ATP

(3) Troponin-Tropomyosin complex -

(4) Polymerised-G actin molecule

The delta cells of pancreas
secretes which of these hormone ?
(1) Insulin

(2) Glucagon

(8) Somatostatin

(4) Aldosterone

The Leydig cells found in human

body are the secretory source of

(1) Progesterone(2) Calcitonin

(3) Glucagon (4) Androgens
00
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The strength of binding antigen
and antibody is known as :

(1) Avidity

(2) Affinity

(8) Active Transport
(4) Antibody synthesis

Deficiency of which of these
vitamins causes con]unct1v1tis,
keratitis and increases sen31t1v1ty
to light ?

(1) Vitamin A (2) Nicotinic acid
(3) Riboflavin (4) Vitamin By

Considering two variables X and
Y, if Y = 7.284 + 0.929 X, then

byx Will be equal to
1) 7.284 @ $8.213
(3) 6.355 @ 0.929

Which of the following plants can
be used as indicators of sulphur
dioxide pollution in air ?

(1) Liverworts

(2) Hornworts

(8) Epiphytic Lichens

(4) Ferns

MacConkey agar is a type of :

(1) Selective medium

(2) Differential medium

(3) Transport medium

(4) Both selective and differential

medium
Genetically engineered male
sterile crop plants ¢an Dbe

produced by inserting
(1) Bt Toxin geiie

"(2) Barnase gene

(3) Lectin gene
(4) Chitinase gene
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List of some cloned plants di'seas“é—”
resistance genes is g1ven -

A PtO A A
B. ILg
C. Cf
D. Hmil ) ,

- Which of these is not for tomato ?
(1) AandB (2 AandC
(3 CandD (4 BandD
If Cov,y = 4, Var, = 4 and Var, =

16, the correlation between x and
y equals to

® 15 © 1
3) 0.5 ~(4) 0.25

In a perfectly symmetrical
distribution, which of the

following relation holds trué ? ,

(1) Mean > Median > Mode K.
(2) Mean < Median > Mode *
(8) Mean < Median < Mode
(4) Mean = Median = Mode

‘Which of the following measures
of variation is independent’of the

unit of measurement ?

(1) Coefficient of Variation

(2) Standard Dev1at10n )
(3) Standard Error = %
(4) Mean Deviation

Which of the following statement

is correct ?

(1) Bioremediation - using  plants
is called green remediation.

(2) Bioremediation using plants
is called bio attenuation.

(3) Bioremediation using: plants
is called phytoremediation.

(4) Bioremediation: using plants

is called Biostimulation.
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select the correct answer using
codes given below the lists :

List-I List-11
a. Meristem i. Haploid
culture Plants

b. Cryopreservation ii. Haberlandt
c. Pollen culture iii.Virus free
plants

iv. Liquid
Nitrogen
a b ¢ d

@ i v 1 i

2 i i v il

@ i il i iv

@ iv 1u i 1

Which State of India has the

largest position of barren land in

India ?

(1) Haryana

(2) Maharashtra

(3) Rajasthan

(4) Himachal Pradesh

RMG-62 is variety of which crop ?
(1) Cowpea (2) Moth bean
(8) Urdbean (4) Moong bean

The type of germination in green
gram is. ,

(1) Epigeal (2) Hypogeal
(8) Hypoepigeal(4) Epihypogeal

d. Totipotency

. Parasitic weed associated with

mustard is
(1) Orobanche -(2) Striga
(8) Cuscuta (49) Loranthus

Nucellar seedlings arising from
poly embryonic seeds of mango
are considered as '

(1) Vigorous root-stock

(2) Clonal root-stock
(8) Seedlings root-stock
(4) Dwarfing root-stock
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Botanical name of cherry tomato is

(1) Lycopresicon esculentum var.
cerasiformae

(2) Lycopresicon esculentum var.

commune " »

Lycopresicon esculentum var.

pyriformae

Lycopresicon esculentum var.

validium

The oil present
damascena is ,
(1) 0.5% (2)  0.1%
(3) 0.01% (4 0.05%

Which is high salt tolerant crop ?

@

in Rosa

(1) Tomato (2) Sugarbeet
(8) Beans (4) Chilli
Buck eye rot disease of tomato is
caused by

(1) . Phytophthora nicotianae
(2) Phytophthora lycopersici

(8 Phytophthc)(ra colocasia

(4) Phytophthora infestence

Green ear disease of bajra is
caused by

(1) Sclerospora graminicola

(2) Plasmopora viticola

(8) Peronospora parasitica

(4) Peronospora sorghi

Flint corn is commonly grown in.
India is also known as -
(1) Zea Mays Indentata

(2) Zea Mays Indurata

(3) Zea Mays Everta

(4) Zea Mays Saccarata

Which of the following is the
vector of Mungbean Yellow

Mosaic Virus MYMYV) ?
(1) Aphis craccivora

- (2) Bemisia tabaci

(3) Megalurothrips distalis P
(4) Empoasca spp.
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-101. Karnal bunt disease of wheat

gives foul smell in the field due to
presence of volatile compound

(1) Tetramethyl amine

(2) Trimethyl amine

(8) Diallyl propyl sulphide
(4) Allyl propyl disulphide

Support prices of Agricultural
commodities are recommended by
(1) National Agricultural Co-
operative Marketing
Federation of India Ltd.
Indian Council of Agricultural
Research

State Agricultural Universities

Commission for Agricultural
Costs and Prices

@

®3)
1C))

Seed is declared as an essential
commodity under

(1) Seed Act, 1966
(2) Seed Control Order, 1983

‘(3) New Seed Policy, 1988

(4) Seed Bill, 2004

As per 20th Live Stock Census
2019, poultry population in
Rajasthan is

(1) 193.46Lac (2) 106.26 Lac
(8) 146.23 Lac (4) 133.46 Lac

Black colour face 1is the
characteristic feature of which
sheep breed ?

(1) Magra (2) Sonadi
(8) Nali (4) Marwari
At the time of birth how many

temporary incisors teeth appear
on lower jaw of a calf ?

(1) Eight (2 Six
(3) Four (4) Two
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108.

1 109.

107. What is major aim of Rashtriya

Gokul Mission in India ?

(1)
@
®3)
@

Disease control in bovine

indigenous breeds.

Management of dairy farms
in India.

Constructlon of dairy farm

buildingg in India.
Development and
conservation of indigenous

bovine breeds in scientific
manner.

Which statement is correct about
Brucellosis in cattle and Buffaloes ?

®)
@
®)
@

It is a reproductive disease of
cattle and Buffaloes.

It is a metabolic disease of
cattle and Buffaloes.

It is a viral disease of cattle
and Buffaloes.

It is a skin disease of cattle
and buffaloes.

Match the following live stock
diseases with their agents :

Tuberculosis | A.

Helminthic |
Parasite

| Round worm | B.

Bacteria

Theileriosis C.

Protozoa
Parasite

(1)
)
3
4

Tuberculosis — A, Round
worm — B, Theileriosis — C
Tuberculosis — B, Round
worm — A, Theileriosis — C
Tuberculosis - C, Round
worm — B, -Theileriosis —-A

Tuberculosis - A; Round
worm — C, Theileriosis — B

!
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110.

' (2)

Which' one of-the following is not
correct about seminal
characteristic in breeding male in
sheep in single ejaculate ?

(1) Ejaculate = 5.8
Volume (ml)
Sperm = 2000-3000
~ concentration
(million per.ml)

(3) Sperm per = 1.6-3.6
ejaculate
(billion)

(4 Motile sperm -= 60-80
(%)

What is most important

111

1
N

(1) 10%
~(®) 26% °
. Which one of the

w

“@

management activity required for
" advance pregnant cows ?
(1) Separate cows in calving pen

~ (2) Clean the cows with water

(8) Keep cows in herd
(4) Only concentrate feeding to
'~ Cows ,

. Which one of the following is not

a khoa based milk product ?
(1) Kalakand: (2) Burfi
(3) Gulabjamun(4) Sandesh

3. According to F.S.S.A. (2006), the
" minimum fat contain in Low Fat

Cream should be )
(2) 80%
4)  99%

following
statement is not correct about
makkhan ?

It contains
moisture.
It contains
butter fat.
It contains 01-1.50 -percent
eurd.

It contains more than 0.2
percent lactic acid.

18-20 percent
(2)
3

78-81 percent
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(4) SA3qRA = 33.04 Tafemm
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(1) 0.05% (2 0.02%

(3) 1.5% (4) 0.01%
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= fRrar %I s 8, e "R |
31 Yk TRl B 8 ?

(1) VR  (2) U
(3) THIRNEESTA (1) ReE
TR HY-TEERU, S-S
TR HY-Frafa Meame Hifd-2019 w3
arferegfera < At oft 7

(1) 1249, 2019

(2) 123@, 2019
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@) 12 @, 2019
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(1) HEBESEA
(3) IR

2) Tresfem
4) Tl

T i 8 w
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116.

| 117.

118.

119.

120.

Which one of the following is not
correct in relation to production
data for the year 2021 22 in India ?

(1) Milk " 221.06 million
production tonnes

(2) Meat = 19.29 million
production kg

3) Egg = 129.60 billion
production .

(4) Wool = 33.04 million
production kg

In which country ghee was

originated ?

(1) Nepal (2) India

(8) China (4) Singapore

‘At what rate, FSSA (2006) permitted

to. add Butylated Hydroxyl Anisole
(BHA) to prevent oxidation of fat in
whole mlk powder by weight of
finished product ? '

(1) 0.05% @ 0.02%
3) 1.5% 4) 0.01%.
Which of the following. operation

increases the  stability of
emulsion; so that cream does not
separate on storing ? :

(1) Sterilization

(2) Pasteurization

(3) Homogenisation

(4) Preservation

When ' the Rajasthan  Agro-
Processing, Agri.-Business &
Agri. Export Promotion Policy *~
2019 was notified ?

(1) 12tk March, 2019

(2) 12tk Juhe, 2019 T
(8) 12th September, 2019 E‘_;E
(4) 12tk December, 2019

Which of the following activity
refers to the removal of germs
and foreign bodies from fruits
and vegetables ?

(I) Sulphitation

(2) Prickling \

(8 Blanching

(4) Pasteurisation
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(8) F@D (4) ¥ B

21. Which

of the following are
methods of food preservation ?
A. Desiccation. B. Fermentation
C. Freezing D. Mixing
(1) Only A, B and C are correct.
(2) Only A, B and D are correct.
(8) Only A, C and D are correct.
"(4) Only B, C and D are correct.

. Preservation of foods by addition
of sugar is because it
(1) makes the food too acidic for
spoilage to occur.

(2) binds with water, making it
unavailable to micro-
organisms.

(3) effectively kills micro
‘organisms. -

(4) dissolves the cell walls in
plant foods.

3. At which temperature foods can

be stored for few months to year ?
(1) Room temperature

(2) at4°C

@B at0°C

(4) below—-20°C

. Who invented the process of
canning ?
(1) Louis Pasteur
(2) Norman Borlaug
(8) Walter Hesse
(4) Nicolas Appert

5. Which of the following reactions
cause browning on cut surfaces of
fruits and vegetables ?

A. Microbial action

"B. Enzymatic action
C. Chemical reaction
D. Excessive heating
Select the correct answer using
codes given below :

(1) AandC (2) AandD
(3 OnlyD (4) OnlyB
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| 126. Role - of . Vitamin E

127.

. "

inn food
products may be useful as
(1) Anti-Microbial
(2) "Antioxidant
- (8) Reduce water activity
4) Reduce browning action

Sugar may crystallize out from
' Jam if the percent of invert sugar

is less than ‘ o
1) 10 @ 20
(3 380 (4) 50

1 128. Commercially concentrated juices

are preserved with . sulphur
dioxide of . .
() 100ppm  (2) 500 ppm

(3) 1500 ppm (4) 2000 ppm

Maillard reaction in the foods is a
reaction of following kind
A. Enzymatic reaction
B. . Biochemical reaction
C. Elementary reactlon .
D. Non-elementary reaction
Select the correct answer using
the codes given below :

(1) Only A (2) AandD
(3 OnlyD (4) Band D

129.:

' 130. Statement 1. Thermal death
) time is the time required’to: -

A

reduce the number of
micro-organisms. . by ..the
factor of 10 in_a thermal
- process.
Statement 2. Thermal death-
time is also called “D” Value.
Statement 8. Thermal death
3 time is also called decimal
reduction time.
Only statement 1 is true.
Only statements 1 and 2 are
true.
Only statements 1 and 3 are
true.
All statements 1 2 and 3 are
true.

(1)
@)

®

00+
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132.

133.

134.

Match the following vegetables
with their respiration rates :

(1) Low-Peas, Moderate-Carrot,
High-Garlic

(2) Low-Garlic, Moderate-Carrot,
High-Peas

(8) Low-Carrot, Moderate-Garlic,
High-Peas

(49) Low-Garlic, Moderate-Peas,
High-Carrot

Match the following act/laws with

their year of inception :

Prevention of Food

Adulteration Act (PFA)

Fruit Products Order

(FPO) .

Agricultural Produce

(Grading and Marketing)

Act AGMARK)

(1) PFA-1954, FPO-1937,
AGMARK-1955

(2) PFA-1937, FPO-1954,
AGMARK-1955

(3)

)]

— 1937

~ 1954

— 1955

PFA-1955, FPO-1954,
AGMARK-1937
PFA-1954, FPO-1955, -
AGMARK-1937

According to CODEX Standards,
which of the following is food
allergen ?

(1) Cereals (2) Fruits

(8) Vegetables (4) Fruit juices

Statement 1 : Aseptic packages
should be stored in
refrigerator.

Statement 2 Only liquid
products are packed by
aseptic packaging.

Statement-1 is true
Statement-2 is false.

Both the statements are false.
Both the statements are true.

Statement-1 is false, but
Statement-2 is true.

® but

()
C)
(4)
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185. Which of the following is/are the :

136,

137.

138.

safety tool ?'

A. Good Hygiene Practice

B. Hazard Analysis
Critical Control Points

C. Good Manufacturing Practice

D. Health Food Production

Select the correct answer using
the codes given below

(1) Only A 2 AandD
@B A, BandC (4) OnlyB

Which of the following can be
used as an ethylene scavenger in
active packaging ?

(1) Ferrous oxide

(2) Magnesium oxide
(8) Calcium oxide

(4) Potassium permanganate

and

\

On which of the followings, the
rate of permeation of gases in
plastics depends ?

A. Type of plasties

B. Thickness of plastics
C. Concentration of gas
D. Temperature of gas
(1) OnlyonA,BandC
(2) OnlyonA,BandD
(3) OnlyonB, CandD
(4 OnA B,CandD

When do you say that food is
adulterated under the PFA Act ?

- A. Ifit is obtained from diseased

animal.

B. If spices are sold without
~ their essence. .

C. If it contains any prohibited
or permitted preservatives in
excess of the prescribed
limits. _ ,

D. If false claims are made for it
upon label.

Select the correct answer using
the.codes given below :

(1) AandC (2) AandD

(8) A, BandC (4) C and D
00,

Il
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From the excavation of which
village of the Bharatpur district
have the remains of copper age
civilization found ?

(1) Nadbai (2) Noh

(3) Roopbas (4) Kumher

What Mansab was granted to
Maharaja Rai Singh of Bikaner

" by Mughal Emperor Jahangir ?

141.

(@

G

142,

D

Four thousand five hundred
Five thousand

Six thousand

(4) Four thousand

Which of | the following
contributed to the emergence and
development of Political
consciousness in Jaipur ?

(D)
().
3

Jainarayan Vyas
Arjunlal Sethi
Manikya Lal Verma
Bhogilal Pandya

)
3)

Which one of the following pairs
is correctly matched ?

(Peasants) (Peasant
Movements)
Rupajiand — Begu Peasant
Kripaji Movement
(2) Nanak ~ - Bikaner
Bhil and Peasant
Dev Lal Movement
Gujar
(8) Nanjiand -~ Bundi
Thakari Peasant
Patel . Movement
(4) Deva " — Sikar
Gujar and Peasant
> Bhawani- Movement
~ Shankar
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(1) HaaARem (2 fram R
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143. Consider the following persons : -
(i) Gopal Das
@i Khub Ram
(iii) Satyanarain
(iv) Manmal Jain
Who among  these were
associated with Bikanar sedition
and conspiracy case ? .
Codes: .
1) @), (), (i) and (iv)
- (@) (@, (i) and (iiD)
(3) (i) and (iv)
(4) (i), (iii) and (iv)

144. was joined in United
| Rajasthan in the third phase of
the integration of Rajasthan.

(1) Alwar
(8 Udaipur

’ (2) Banswara
(4) Jaipur

145. Which of the followifg ‘temples
are of the Gurjar Pratihar style of
temple architecture ?

. () Samadhishwar temple of
' Chittor Fort
(i) Dadhimati mata temple of
- Goth Manglod ‘
(iil)) Someshwar temple of
_ Kiradu )
(iv) Ambika mata temple of
Jagat
Codes:

(1) (@), (iii) and (Gv)
(2) - (iii) and (iv)
3) (@, @), (iii) and @[iv)
~(4) (), () and @v)
146. Govind Guru was a leader of
which movement ?
(1) Tribal Movement
(2) Peasant Movement
; (3) Praja Mandal
© (4) Arya Samaj
30 00:: -
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(1) =1
(3) THAW

(2) @
(4) TR
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P GE! ST BT = I :
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@ 0
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6 I & AT-Tre h e e ?
(1) e (2) Wt
(8) THeTS (4) O

© @

147. The painted curtain used for
decoration behind the idol of Shri
H Nathji in Nathdwara is called
(1) Pichwai
(2) Ragmala
| (8) Barahamasa
(49) Nal-Damyanti Katha

With the accompaniment of
which stringed instrument do the
jogis sing' Khayal like Gopichand,
Bhartari, Sultan Nihal De etc., in
the desert region ?

(1) Jantar

(2) Sarangi

(8) Ektara

(4) Rawanhattha

Match List — I with List — IT and
find the
choosing the codes given below

the lists -
List-1 List-1I
\i (Folk Deities) (Main Centre)
(@) Kallaji (1) Bengati
- (b) Harbhuji (i) Runidela
[ (¢c) Pabuji

148.

149.
correct answer by

(iii)) Dadreva
(d) Gogaji (iv) Kolu
Codes:

@ ® @© @
O @ @ Gv) 3G
@ @O G 3@ @)
@ @) G @O )
@ @) @O @) G

150. Which folk God of Rajasthan took

| initiation in Yoga Sadhana

‘ (religion) with the inspiration of
his wife ?

(2) Mallinathji
(4) Harbhuji

E (1) Pabuyji
! (3) _Ramdevji
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